INITFILE= PGC1063216_bd.outgal FITSECT = '[291:460,700:869]’

DATAIN = PGC1063216.phot.1_nonan.fits CONVBOX = '50, 50 COMP_1 = sersic

SIGMA =PGC1063216_sigma2012.fits_ns MAGZPT = 21.097 1_XC =[376.1670]

PSF = PSF-1.composite.fits INFILE: 2012-Oct- 9 1 YC =[785.3310]

CONSTRNT= none PLOT: 9-Oct-2012 18:10:49.00 — - ’

MASK =PGC1063216.1.finmask_nonan.fits4g@hiisi.oulu.fi 1 MAG =17.0504
PGC1063216_bd.outgal 1 RE =19.2712

1N =2.4555
16 OBS _____ BULGE 0.158 1_AR =0.3912
18 COMP_2 = expdisk

2 MAG =15.2529
2 RS =15.6159

& 20 2 AR =[0.8134]
g 2 _PA =[9.7005]
> Chi2inu=  6.26152
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